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Determining Reasonable Answer Name:
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 )
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1.
» Anything times5 HASto end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2.
» Anything times 10 HAStoend in aO. Ex. 10x7=70 10x16=160 3.
\ /
4.
1) 541x5=2,705 2) 10 x 586 =5,860
5.
3) 524 x 10 = 5,247 4) 345x 10 = 3,453 6.
7.
5 323x10=3,237 6) 345 x 10=3,450
8.
7) 2x698=1,397 8) 5x569=2,849 9.
10.
9) 187x10=1,870 10) 2x457=914
11.
11) 616 x 10 = 6,165 12) 399 x 5= 1,997 12
13.
13) 2x236=472 14) 260 x 2 =520 u
15.
15) 428x5=2,141 16) 10 x535=5,350
16.
17) 2x999=1,999 18) 479x5=2,395 17,
18.
19) 518x2=1,036 20) 2 x 296 =593
19.
20.
h 1-10 [95]90| 85|80 75| 70| 65| 60| 55 | 50
M at www.CommonCoreSheets.com 11-20(45(40|35|30(25(20| 15|10 5| O




il

Determining Reasonable Answer Name: Answer Key
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 )
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1 YES
» Anything times5 HAS to end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2. Yes
« Anything times 10 HAS to end in a 0. Ex. 10x7=70 10 x 16 =160 3. no
L J
4. no
1) 541 x5=2,705 2) 10 x 586 = 5,860
5. no
3) 524 x10=5,247 4) 345x 10 = 3,453 6. yes
7. no
5) 323x10=3,237 6) 345x10= 3,450
8. no
7) 2x698=1,397 8) 5x569=2,849 9. yes
10. YES
9) 187x10=1,870 10) 2 x 457 =914
11. no
11) 616 x 10= 6,165 12) 399x 5=1,997 12 no
13. YES
13) 2x236=472 14) 260 x 2=520
) ) 14. yes
15. no
15) 428 x5=2,141 16) 10 x 535=5,350
16. YES
17) 2x999=1,999 18) 479x5=2395 17 no
18. YES
19) 518x2=1,036 20) 2 x 296 =593
19. YES
20. no
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